
DESCRIPTIONID PART QTY REF.

Ref.: 8929

20 min1 person

M5 Silentblock

M5x1 nylon washer

M5 ISO 7380 screw cap

Ø16x8 silicon spacer

 Ø6,5 x Ø15 x 1 metalic washer

M5X16 ISO 7380 Allen screw

Ø8,5 x Ø14 x 15 Arrowhead

Right metal support

Left metal support

M5X35 Ø9 ISO 7380 Allen screw

Screen

4 SILENTBTM5-046/1

4 ARNV00000000245

4

1

TAPON--------85

TOPE-PA-16DX8—

2 ARANPLADIN125M5

4 TORNI-I7380-493

2 CASQUI81415-101

1 SOPOR-2P-3-8929

1 SOPOR-2P-3-8929

2 TORNI-I7380-499

1 8929C/F/H/N/R/WM3

8

9

10

11

5

7

6

2

3

4

1

 Easy

Innnteeermmmediate

DDDiffifificcuuullt

Nº 3
Nº 5

ALLEN

  SCREEN FOR 

TRIUMPH SPEED TRIPLE ’16 -

Pg. 1/2

STREET TRIPLE R/RS ’17 -

https://www.motorcycleid.com/puig/


 MOUNTING INSTRUCTIONS 

 SCREEN FOR  

TRIUMPH SPEED TRIPLE ’16 -

1

43

2

Pg. 2/2

DISASSEMBLY

ASSEMBLY ASSEMBLY

ASSEMBLY

44

8 7

7

9

9

1

9

9

7

7

10

10

10

10

8

11

8

8

55

23

66

STREET TRIPLE R/RS ’17 -

If you’re looking for quality motorcycle windshields & fairings, visit our website.

https://www.motorcycleid.com/windshields-fairings.html



